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QUESTION 1

Click the Exhibit button.

Referring to the exhibit, which two statements are true? (Choose two.)

A. You should use CoS rewrite rules for traffic coming into the leaf devices.
B. You should use CoS rewrite rules for traffic leaving the leaf devices.

C. You should use CoS rewrite rules for traffic leaving the spine devices.

D. You should use CoS rewrite rules for traffic coming into the spine devices.

Correct Answer: BC

QUESTION 2

Click the Exhibit button.
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You need to ensure that no single point of failure exists in a new data center that will be deployed. Referring to the
exhibit, which two technologies will accomplish this requirement? (Choose two.)

A. Virtual Chassis
B. LLDP

C. MC-LAG

D. LAG

Correct Answer: AC

QUESTION 3

Which protocol is used to exchange control information between the participating multichassis LAG (MCLAG) peers?
A. BGP

B. OSPF

C.Iccp

D. VCCP

Correct Answer: C
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QUESTION 4

You are designing an EVPN/VXLAN overlay network for your data center. You are planning on reusing some of your
existing devices that do not support VXLAN routing.

Which gateway model should be deployed to support this architecture?
A. spine gateway

B. leaf gateway

C. server based gateway

D. underlay gateway

Correct Answer: A

QUESTION 5

You are deploying a new data center fabric to support virtualized systems. As part of the deployment, you
must monitor server utilization of the hosts.

In this scenario, which Juniper Networks product would satisfy this requirement?

A. Junos Space Network Management Platform

B. Contrail Networking

C. Contrail Insights

D. Junos Space Security Director

Correct Answer: C

JNO-1302 PDF Dumps JNO-1302 Practice Test JNO-1302 Braindumps

JNO0-1302 PDF Dumps | INO-1302 Practice Test | INO-1302 Braindumps 4/4


https://www.passapply.com/jn0-1302.html
https://www.passapply.com/jn0-1302.html
https://www.passapply.com/jn0-1302.html
http://www.tcpdf.org
https://www.passapply.com/jn0-1302.html
https://www.passapply.com/jn0-1302.html
https://www.passapply.com/jn0-1302.html

